
MAT 126: Trigonometry 
Review for Final Exam 

 
1.  tan A = 2/9  A is in quadrant III  
     sec B = -7/4  B is in quadrant II 
 
Give exact values (simplified fractional/radical form) for the following:  
 
(a)  sin A = ________________  (b)  sin B = _________________ 
 
(c)  cos A = ________________  (d)  cos B = _________________ 
 
(e)  cot A = ______________   (f)   tan B = ________________ 
 
(g)  sec A = ___________   (h)  csc B = ________________ 
 
(i)   cos (A + B)= 
 
 
(j) sin 2A =  
 
 
(k)  tan A/2 
 
 
2. Convert the following: 
 

(a)  18° = _________radians  (b)  7π = ________degrees 
 
 
(c) 58.27°



4. Solve the following triangles: 
 

(a)     (b)   
         . 
 

8 ft
.
.

.

8 ft

6 ft
7 ft


